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QUESTION 1

Which three statements are true about Person Number?

A. The Person Number Generation Method cannot be changed once a person has been entered.
B. Initial Person Number cannot be provided at enterprise level.

C. The Person Number Generation method can be changed any time.

D. Initial Person Number can be provided at enterprise level.

E. Person Numbers for contacts are generated automatically.

Correct Answer: ADE

QUESTION 2
Which three options define Locations?

A. Location information is entered only once. Subsequently, when setting up workforce structures the location is
selected from a list.

B. Locations that are created can be represented on a map for easier identification and access.
C. A location identifies the physical addresses of a workforce structure, such as a department.
D. Locations that are created can be represented as a tree and can be used in the security profile.

Correct Answer: ABC

QUESTION 3

You are implementing the Enterprise Checklist functionality for one of your customers. The customer wants certain
checklist tasks allocated to the employee automatically before their hire date. What should you do to achieve the
required functionality?

A. Associated the area of responsibility with the checklist template to allocate the checklist to persons automatically
when they are given the specific area of responsibility.

B. The worker must be added as a Pending Worker and the enterprise or step checklist need to be tied to the Add a
Pending Worker action.

C. Associate a life event with the checklist template to allocate the checklist to persons automatically when they
experience the event.

D. Managers can automatically allocate checklist templates to the persons whom they manage from the Onboarding
work area.

E. Associate the eligibility profile with the checklist template to allocate the checklist to persons automatically when they
satisfy the criteria built in the eligibility profile.
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Correct Answer: C

QUESTION 4

An employee\\'s job description is "Recruiter" as of 01-Jan-2015. This job was updated in the system to "Consultant” on
01-Feb-2015. The 01-Feb-2015 assignment record is the latest effective dated employment record in the system. On
01-Mar-2015, the HR specialist wants to view this employee\\'s previous employment details and searches for them on
the Person Management page. The HR specialist enters the effective as-of date value as 31-Jan-2015 with the search
keyword "Recruiter" because the employee was working as a recruiter on 31st Jan 2015. The search returns no rows.
What is causing this?

A. The Person Management page search does not support Job attribute keywords.

B. The Update Person Search Keyword process has associated the effective dates with the job attributes in the keyword
record resulting in search discrepancies.

C. The Update Person Search keyword process has failed on 31-Jan-2015 but ran successfully the next day.
D. The Person Management page search does not support date-effective keywords.

E. The Update Person Search Keyword process has updated the latest effective dated job attribute in the keyword
record.

F. The Update Person Search keyword process has failed on 01-Mar-2015 but ran successfully the previous day.

Correct Answer: E

QUESTION 5

During implementation, a two-tier employment model - multiple assignment has been set up. Now the
client wants to store contract information.

Which statement is true about changing the employment model setting after implementation?

A. The client change from any two-tier option to another at any point of time, irrespective of the existence of work
relationships.

B. If employees exists within the enterprise and legal employer the person model setting changed as there are not
contract options that support a contract with multiple assignment.

C. The client can have both: a two-tier multiple assignment employment model can remain for its existing employees,
and a two-tier multiple contracts single assignment can be created to hire new employees with the same legal
employer.

D. The client cannot move form a two-tier multiple assignment to two-tier single contract and single assignment after
implementation.

Correct Answer: C
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